Target: 30_Dor_C ID: 40101015002  Start: 2015-09-03 00:16:08 UTC  Module: A

Filter options: SAA algorithm 1 (high-shield rate based using a figure-of-merit as evaluation metric), optimized SAA cut

nucalcsaa options: nucalcsaa task not used! Effective exposure time: 178621 sec (100.0%)
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nucalcsaa options: --saacalc=1 --saamode=optimized --tentacle=no Effective exposure time: 176891 sec (99.03%)
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nucalcsaa options: --saacalc=1 --saamode=optimized --tentacle=yes Effective exposure time: 175234 sec (98.1%)
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Target: 30_Dor_C ID: 40101015002  Start: 2015-09-03 00:16:08 UTC  Module: A

Filter options: SAA algorithm 1 (high-shield rate based using a figure-of-merit as evaluation metric), strict SAA cut

nucalcsaa options: nucalcsaa task not used! Effective exposure time: 178621 sec (100.0%)

2

H
cts/sec

cts/sec
Latitude [deg]

7107
6x107t
5x107

I
% 50 100 150 200
Time since start of observation [ks] Longitude [deg]

nucalcsaa options: --saacalc=1 --saamode=strict --tentacle=no Effective exposure time: 160959 sec (90.11%)
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nucalcsaa options: --saacalc=1 --saamode=strict --tentacle=yes
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Target: 30_Dor_C ID: 40101015002  Start: 2015-09-03 00:16:08 UTC  Module: A

Filter options: SAA algorithm 2 (low-shield rate based using rms as evaluation metric), optimized SAA cut

nucalcsaa options: nucalcsaa task not used! Effective exposure time: 178621 sec (100.0%)
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nucalcsaa options: --saacalc=2 --saamode=optimized --tentacle=no Effective exposure time: 174712 sec (97.81%)
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nucalcsaa options: --saacalc=2 --saamode=optimized --tentacle=yes Effective exposure time: 168053 sec (94.08%)
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Target: 30_Dor_C ID: 40101015002  Start: 2015-09-03 00:16:08 UTC  Module: A

Filter options: SAA algorithm 2 (low-shield rate based using rms as evaluation metric), strict SAA cut

nucalcsaa options: nucalcsaa task not used! Effective exposure time: 178621 sec (100.0%)
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nucalcsaa options: --saacalc=2 --saamode=strict --tentacle=no Effective exposure time: 150544 sec (84.28%)
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nucalcsaa options: --saacalc=2 --saamode=strict --tentacle=yes Effective exposure time: 143885 sec (80.55%)
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Target: 30_Dor_C ID: 40101015002  Start: 2015-09-03 00:16:08 UTC  Module: A

Filter options: SAA algorithm 3 (low-shield rate based using rms as evaluation metric), optimized SAA cut

nucalcsaa options: nucalcsaa task not used! Effective exposure time: 178621 sec (100.0%)
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nucalcsaa options: --saacalc=3 --saamode=optimized --tentacle=no Effective exposure time: 174652 sec (97.78%)
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Target: 30_Dor_C ID: 40101015002  Start: 2015-09-03 00:16:08 UTC  Module: A

Filter options: SAA algorithm 3 (low-shield rate based using rms as evaluation metric), strict SAA cut

nucalcsaa options: nucalcsaa task not used! Effective exposure time: 178621 sec (100.0%)
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nucalcsaa options: --saacalc=3 --saamode=strict --tentacle=no Effective exposure time: 150544 sec (84.28%)
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Effective exposure time: 143825 sec (80.52%)

nucalcsaa options: --saacalc=3 --saamode=strict --tentacle=yes
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